BEANRE WEESBRAEREL RIS (3) KENE

£ b 1 - ikt B H 2 B @ ® & W OE
BiZAEE 2,347, 866
BIEEH 2,347, 866
STHRAIE 2,347, 866
KERE 2,030, 866
B2 EEH 659,178
1 AI2%E 1.00 440, 966 440, 966
=
2 HEAENR QEELY) 1.00 100, 155 100, 155
=
3 BE (1) Betb (H#EB~{RBM (R0O2-1) ) 1.00 31,778 31,778
=
4 BE (2) [t (BHiiEL) 1.00 86,279 86,279
=
KERE 880, 036
5 KEAE HESB~{xBM (R0O2-1) 1.80 39, 293 70,727
km
6 EmKERE 1.00 615, 287 615, 287
=
7 HEErAI= Prikiz £ (FESMEL. ERAD 4.40 44, 096 194, 022
km
BE 491, 652
8 MEEER 126.00 3,902 491, 652
-1l
EEREE 317, 000
i - |mE 226, 600




BEANRE WEESBRAEREL RIS (3) KENE

9 EATHE 1.00 84, 000 84,000
=l

10 HR|E 1.00 142, 600 142, 600
=l

S 53, 000

M EBHRA 1.00 53, 000 53, 000
=

Z 0t 37,400

12 TR TEERE 1.00 37, 400 37,400
=




WIEE WEBERERSERELTHRXIRE () KENS
£ kg g - KTk B = il ® &

EHENEE 2,121,266
HRE 2,121,266 x 78.1% — 7,974 1,648,734
BEEEE 2,121,266 + 1,648, 734 3,770,000
E R 226, 600
EEAGE 226, 600
T R A 226,600 x 53.85% ( 35% =+ (1 — 35%) ) 122,024
BRI 226,600 + 122,024 348, 624
—REEARF 348,624 x 53.85% (35% = (1 — 35%) ) — 6,358 181,376
NERER 348,624 + 181,376 530, 000
BB E TS 3,770,000 + 530,000 4,300, 000
HEREELE 4,300,000 x 10.00% 430, 000
REEBE 4,300,000 + 430, 000 4,730, 000




Rifiz -/ \v7r—o

WEEERREERELHHXRIZ (M) KENE

&5 1
2% AEERE 1KY
2 b g - BIRTE B = B ff & % W E " =
BlE FEHEER
A 2.00 48, 000. 00 96, 000
BIEHED
A 5.00 42, 200. 00 211,000
B E B A
A 4.00 32, 400. 00 129, 600
MAH 2E0%
% 1.00 436, 600. 00 4, 366
& G 1EZRER : 1.00 440, 966. 00 440, 966
&5 .2
L BMERR 2FESZY) 1KY
2 b g - BIRTE B = B ff & % W E " =
BIEFEENE
A 2.00 25, 400. 00 50, 800
FSvH 2tiE
=] 1.50 32, 243.00 48,364/4. 70H / 8H
MM 2H0%
% 1.00 99, 164. 00 991
& G 1EZRER - 1.00 100, 155. 00 100, 155
5.3
&¥: BE (1) BELE (BRESB~{XBM (RO2-1) ) 1KY
2 b g - BIRTE B = B ff & % W = " =
REE >4 kN2 2
=] 0.25 3, 258.00 814/2.00H / 8H
BlE FEHEER
A 0.25 48, 000. 00 12, 000
BIE AN
A 0.25 42, 200. 00 10, 550
B E B A
A 0.25 32, 400. 00 8, 100
MAH 2E0%
% 1.00 31, 464.00 314
& G 1EZREA - 1.00 31,778.00 31,778




Rifiz -/ \v7r—o

WEEERREERELHHXRIZ (M) KENE

BS54
&% BE (2) EL BFEREL) 11Xy
2 b g - BIRTE By = B O{f & £ W E " =
R@EfR FRP D 70PS%E! 3.0t
=] 0.50 72,770.00 36, 385 8H
BIEFEHEM
A 0.40 48, 000. 00 19, 200
BIE AN
A 0.40 42, 200. 00 16, 880
B E B A
A 0.40 32, 400. 00 12, 960
MM 2H0%
% 1.00 85, 425. 00 854
& G 1EZRER - 1.00 86, 279. 00 86, 279
F5 .5
L KERE HESB~RBM (R02-1) 1BEY B.6km)
2 b g - BIRTE By = B O{f & £ W E " =
REE >4 kN2 2L
=] 1.00 3, 258.00 3,258/2.00H / 8H
BIEHED
A 1.00 42, 200. 00 42,200
B E B A
A 1.00 32, 400. 00 32,400
REBF
A 2.00 31,100. 00 62, 200
MM 2H0%
% 1.00 140, 058. 00 1,400
& G E%BESN :3.60km 39, 293. 00 141, 458




Rifiz -/ \v7r—o

WEEERREERELHHXRIZ (M) KENE

ES .6
&% EEKENE 1KY
2 b g - BIRTE BT H = B ff & % W E " =
REE >4 kN2 2L
=] 4.00 3,258.00 13,032/2.00H / 8H
AREM FRP D 70PSZ! 3.0t
=] 5.00 72, 770.00 363, 850 8H
BIE AN
A 2.00 42, 200. 00 84,400
B E B A
A 2.00 32, 400. 00 64, 800
BIEBF
A 2.00 31,100. 00 62, 200
F—2NLRT— 3> 4%
=] 2.00 10, 860. 00 21,720
MM EEAMEDY
% 2.50 211, 400. 00 5,285
& G 1EZRER - 1,00 615, 287. 00 615, 287
&5 .1
L MEAE BRRIEE GESMAL EAED THHY (4.8km)
2 b g - BIRTE BT H = B ff & % W E " =
@M FRP D 70PSZ! 3.0t
=] 1.00 72, 770.00 72,770 8H
BIE AN
A 1.00 42, 200. 00 42,200
B E B A
A 1.00 32, 400. 00 32,400
BIEBF
A 2.00 31,100. 00 62, 200
MM 2H0%
% 1.00 209, 570. 00 2,095
& G YE%8EH :4.80km 44,096. 00 211, 665




Rifiz -/ \v7r—o

WEEERREERELHHXRIZ (M) KENE

5.8
B MESER 1004&HrmE S Y
2 b g - BIRTE B = B ff & % # " =
B2 F{EHEM
A 1.00 48, 000. 00 48, 000
BIEHED
A 2.00 42, 200. 00 84, 400
B E B A
A 4.00 32, 400. 00 129, 600
REBF
A 4.00 31,100. 00 124, 400
MM 2H0%
% 1.00 386, 400. 00 3, 864
& G YEZHEH ;- 100. 004& MR E 3,902. 00 390, 264
=:9
L BATHE EED)
2 b g - BIRTE B = B ff & % # " =
AR (A)
A 1.00 51, 200. 00 51,200
HEh (C)
A 1.00 32, 800. 00 32, 800
& G YE%8EH 1. 00[E 84, 000. 00 84, 000
&5 :10
L RE|E HEED)
2 b g - BIRTE B = B ff & % # " =
F{EHRAm GRED
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
HEh (C)
A 1.00 32, 800. 00 32, 800
& Hi YE%8EH 1. 00[E 142, 600. 00 142, 600




Rifiz -/ \v7r—o

WEEERREERELHHXRIZ (M) KENE

&5 11
B EBHRERR 1KY
2 b g - BIRTE B = =i} & # " =
(BHRERE
= 1.00 53, 000. 00 53, 000
& Hi 1E%8EH : 1.00= 53, 000. 00 53, 000
&5 .12
2 EIEERE 1KY
2 b g - BIRTE B = =i} & 5 # " =
EZRYUTRE
I 1.00 37, 400. 00 37,400
& Hi 1E%8EH : 1.00= 37, 400. 00 37,400




